SH: HSTED
M As HS UE AH(SILBZ/AHS)

R HES=E HEs 54 (&= 8Y)

SN -E2 () - RN - HAES Oif &t NEA Husz
RS FSE=anl, 58,241,379 48,582,467 9,658,912
= 31,500 0 31,500
= 11,470,000 11,470,000 0
Jl 18,929,766 11,721,830 7,207,936
=S 27,810, 113 25,390,637 2,419,476
e 2 dE (22 58,167,274 48,508,362 9,658,912
= 31,500 0 31,500
= 11,470,000 11,470,000 0
Jl 18,929,766 11,721,830 7,207,936
= 27,736,008 25,316,532 2,419,476
H=53E8 AEs =4 5,070,130 4,740,130 330,000
=F AE2SEIIR 249 4,121,420 3,791,420 330,000
201 24| 222,280 192,280 30,000
01 At=2c2|d| 162,280 132,280 30,000
o&dl ¥ =2SE3 + 130,000 100,000 30,000
301 LEtEAZ 3,869, 140 3,569, 140 300,000
" o=t - 2S2SEY 3,869, 140 3,569, 140 300,000
O & X=Xt elZb| 3,136,240 3,116,240 20,000
OZx4= 70,000 50,000 20,000
Of+=t= 2| 280,000 0 280,000
HFIIEAIE &5 37,968,552 30,787,052 7,181,500
= 31,500 0 31,500
= 11,470,000 11,470,000 0
Il 16,650,000 9,500,000 7,150,000
< 9,817,052 9,817,052 0
AIMAEEAIL XIR(Z2D) 1,000,000 0 1,000,000
Il 1,000,000 0 1,000,000
403 XHXISHISAH201H 1,000,000 0 1,000,000
Il 1,000,000 0 1,000,000
01 AXISHMAZ2EE 1,000,000 0 1,000,000
QUIMAEZ=AIL X 1,000,000 0 1,000,000
Pl 1,000,000 0 1,000,000
E3 HH SSTUENSAE XJ(2D) 350,000 0 350,000
Il 350,000 0 350,000
403 XHXISHISAH201H 350,000 0 350,000
Il 350,000 0 350,000
01 AUXISHMAZ2EE 350,000 0 350,000
O=d g3 2szug 350,000 0 350,000
Jl 350,000 0 350,000
LY EEH SSHYUEMFA 350,000 0 350,000
Il 350,000 0 350,000
403 AXISHM S XH=201H 350,000 0 350,000
Il 350,000 0 350,000
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S

X‘i iH:

Sel: MSIIPAIE 25 (et @
SAH-ZH . (3H) - NIBAY - BES Oil &4 JIEH Hus2

01 RXISH =S 350,000 0 350,000

OYY HE=CI SSHUBHSAIL 21 350,000 0 350,000

| 350,000 0 350,000

o SSHE SSEYENSALE XN (2D) 350,000 0 350,000

2| 350,000 0 350,000

403 TIXISHISKHZ0IH 350,000 0 350,000

| 350,000 0 350,000

01 RXISHIZEE 350,000 0 350,000

o4 L5 SSHYUHSAL &1 350,000 0 350,000

5] 350,000 0 350,000

Zd 2HZ SSHYFASAE XIR(2D) 350,000 0 350,000

g 350,000 0 350,000

403 RIXISRISTHZ0IH 350,000 0 350,000

p] 350,000 0 350,000

01 RXSHAESE 350,000 0 350,000

0= WX SSHMBUSAL &X 350,000 0 350,000

Il 350,000 0 350,000

US LSS SSHYEHSAE XY(2D) 350,000 0 350,000

5] 350,000 0 350,000

403 RIS SKHZOIH 350,000 0 350,000

5] 350,000 0 350,000

01 XXISHAE2E 350,000 0 350,000

OLE USE SSHHEHSAL &X 350,000 0 350,000

Il 350,000 0 350,000

B ZYE SSHUBHSAL IR (2D) 350,000 0 350,000

5] 350,000 0 350,000

403 KX SHS =01 350,000 0 350,000

p 350,000 0 350,000

01 RXISHR=EE 350,000 0 350,000

OB ZHE SSHMBUSALE & 350,000 0 350,000

| 350,000 0 350,000

52 YT SSHYEASAE N/ (2D) 350,000 0 350,000

g 350,000 0 350,000

403 XHXISHRHISKHZOIH 350,000 0 350,000

] 350,000 0 350,000

01 RXSHIE=2E 350,000 0 350,000

O=E YUX SSHYEMUSAE £X 350,000 0 350,000

Jl 350,000 0 350,000

S3 S5% SSHYBHSAL IR (D) 350,000 0 350,000

| 350,000 0 350,000

403 RIS SKHZOIH 350,000 0 350,000

Jl 350,000 0 350,000

01 RXISHIZSE 350,000 0 350,000
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BA: HEXED
I UE S UAT AEH(2ILUZ/ASF)

=ar iﬂ%?l‘ﬂlxl’é‘gi*é (Stel: &™)
£ -BH . H(3H) - NIFANL - HES Ol &4 JIEH Hlus2

OEd 43tz SSTUEMSAE £X 350,000 0 350,000

Jl 350,000 0 350,000

g4 23D SSTMEMSAIL XIK(2D) 350,000 0 350,000

Jl 350,000 0 350,000

403 XXM SA=01H 350,000 0 350,000

) 350,000 0 350,000

01 RXIHMA=EE 350,000 0 350,000

O2H L STUEMSALE £X 350,000 0 350,000

Il 350,000 0 350,000

o ASED SSFYENSAE N (=21) 350,000 0 350,000

Jl 350,000 0 350,000

403 XHXISHISA=01H 350,000 0 350,000

) 350,000 0 350,000

01 AXISHMAZ2ER 350,000 0 350,000

OFH MN=E1 SSTLEMSAE £X 350,000 0 350,000

Jl 350,000 0 350,000

HE AEY) SSTYUEMSAE X3 (21) 350,000 0 350,000

Il 350,000 0 350,000

403 XXIEHHISAH=01H 350,000 0 350,000

Jl 350,000 0 350,000

01 RXIHMA=E X 350,000 0 350,000

OEE tEHAN SSTUEMSAE £X 350,000 0 350,000

Jl 350,000 0 350,000

olKl ASS1 SSHFUEMIAE X (=1) 350,000 0 350,000

Il 350,000 0 350,000

403 XXM SA=01H 350,000 0 350,000

Il 350,000 0 350,000

01 XSRS EE 350,000 0 350,000

OLKl 2SE1] SSTYUEMSAL &X 350,000 0 350,000

Jl 350,000 0 350,000

g2 S=H sHESEMSAE XE(2D) 600,000 0 600,000

Jl 600,000 0 600,000

403 XHXIEHISAH=01H 600,000 0 600,000

Il 600,000 0 600,000

01 XXIHMA=ZEE 600,000 0 600,000

0%d U SHESEMSAE 2E 600,000 0 600,000

] 600,000 0 600,000

Ed Edx USHNS2AL XJ(=2) 480,000 0 480,000

Jl 480,000 0 480,000

403 XXIEHEX=01H 480,000 0 480,000

Jl 480,000 0 480,000

01 XXIEMAEEE 480,000 0 480,000

OFd Edx [ISHM=s2 HE 480,000 0 480,000
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A MSHEDL
M U HE LAT AE(BAL2E/HR)

B9 MSIIBAIE &5 (el &)
S - FB - S(S) - MM - BES Ol &t o8 p[E-L" Hms2

| 5] 280,000 0 280,000

2 AUE CISEHSBAL N(21) 390,000 0 390,000

| 390,000 0 390,000

403 XHXISHHISTH=0IH 390,000 0 390,000

I 390,000 0 390,000

01 XXISHARZEE 390,000 0 390,000

ORF FUE GSHMSH Y 390,000 0 390,000

] 390,000 0 390,000

& 3= USEASBAL N(21) 480,000 0 480,000

2| 480,000 0 480,000

403 RXISHSKHZ0IH 480,000 0 480,000

J| 480,000 0 480,000

01 XXISHHIAIZ2E 480,000 0 480,000

O=d X GSHUSH HY 480,000 0 480,000

| 480,000 0 480,000

28 QLIS SR (HMSAL)(=2D) 31,500 0 31,500

= 31,500 0 31,500

403 RXISHSKHZ0IH 31,500 0 31,500

= 31,500 0 31,500

01 XXISHHIXt=Z 2 31,500 0 31,500

©28 HIEUEH ST(HSAL) 31,500 0 31,500

=2 31,500 0 31,500

HMSHs Ne 2 SH |4 11,414,858 9,612,878 1,801,980

g 110,080 142,000 A31,920

= 11,304,778 9,470,878 1,833,900

= A5 HISEH 22 - A= 10,073,900 8,400,000 1,673,900

307 BIZHOIM 10,073,900 8,400,000 1,673,900

02 QAR 10,073,900 8,400,000 1,673,900

O=HS3 X 7,634,000 6,024,000 1,610,000

OSZHAMS 3| X2 1,432,100 1,376,000 56,100

O=MEHSS X 1,007,800 1,000,000 7.800

M8 JHEl 2 &It 1,140,000 960,000 180,000

307 21201 980,000 960,000 20,000

04 QIZHUAEE 980,000 960,000 20,000

OXIZBLIMENSHER &I} 90,000 80,000 10,000

OLAZLIMEHSUS Ha K& 90,000 80,000 10,000

308 RXISHHSO0IA 160,000 0 160,000

01 XXIEHZAERS 160,000 0 160,000

ONlgsl EHLERINAFEHS HE X 100,000 0 100,000

©2011 OHAIOLER ¢ +RHE| HHE K& 50,000 0 50,000

OX4ZOIO! RN X 10,000 0 10,000
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SN HSESD

B U AS YAE M (SHUBR/HS)

Srel: MS0E XY L S S4 (S @)
SA - FHH . (B) - HRAY - BAS Ol &k e Hiws2t
Zoo! MEHKHS HE(2D) 30,000 70,000 £40,000

] 15,000 35,000 £20,000

= 15,000 35,000 £20,000

307 212101 30,000 70,000 240,000
o] 15,000 3,000 £20,000

= 15,000 35,000 220,000

04 BIABAIZE 30,000 70,000 240,000
OUA=H Y ME TS I 30,000 70,000 £40,000

o] 15,000 35,000 £20,000

= 15,000 35,000 £20,000

HIRWE 2 NR(2D) 9,080 107,000 A11,920
| 9,080 107,000 A11,90

307 212H0I 95,080 107,000 A11,920
] 9,080 107,000 A11,920

02 BIAFABE 9,080 107,000 A11,920
OHIMT =& N 95,080 107,000 A11,920

)| 9,080 107,000 A11,920

MEHS SUEO S 2,269,019 2,178,587 90,432
o] 2,169,686 2,079,830 89,856

= 99,333 98,757 576

MEHSXSA (D) 1,203,360 1,182,432 20,928
] 1,203,360 1,182,432 20,928

308 XHXIEHHISOIH 1,203,360 1,182,432 20,928
] 1,203,360 1,182,432 20,928

01 RASHIY2EZ 1,203,360 1,182,432 20,928
OMEMSXIEX HHX 1,203,360 1,182,432 20,928

| 1,203,360 1,182,432 20,928

024 HSES XB(2D) 569,920 500,416 69,504
| 538,880 469,952 68.928

= 31,040 30,464 576

307 BI2t0IH 62,080 60,928 1,152
| 31,040 30,464 576

= 31,040 30,464 576

02 BIAFABE 62,080 60,928 1,152
oviZal HSES XY 62,080 60,928 1,152

| 31,040 30,464 576

= 31,040 30,464 576

308 XtXIEHHISOIH 507,840 439,488 68,352
| 507,840 439,488 68,352

01 RASHIN2EZ 507,840 439,488 68,352
oolZal HSES X8 507,840 439,488 68,352

| 507,840 439,488 68,352

2013 AHa BT XS 1,005,000 1,000,000 5,000
2013 AHSSYL M AU XIS 5,000 0 5,000
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2AH: MsIE
& 2t Hs A]AT AS(SILAE/MR)
ol 2013 AHE sEE XA (e &)
SAH - ZE . SRI(B) - HEAY - BES 0 &k o8 Il o HR=2
202 o441 5,000 0 5,000
01 =UHABI 5,000 0 5,000
ouAE: & X& 5,000 0 5,000
AZRNME sS4 L XA 250,000 0 250,000
A =psterets| Ozl KR 250,000 0 250,000
308 XXIEHHISO0IM 250,000 0 250,000
01 XXIESHNBAEEZ 250,000 0 250,000
©2011 &0l A xtsterars| izl XI& 250,000 0 250,000
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